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1. Ghenthat f(x)= %xﬂz and g(x)=3(x=2)'~4 , indicate the damain and range for each of

tha following
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2. Given each reciprocal function, find the coardinates of the invariant points, equation of the
asymptotes, and the domain & range:

gypm—L — 3]
e s €

s cy T .
) !L (4:0‘—0 =1 et '8‘:";;” J-\.(n's)'a:— 1§ aAtey) ‘f bl
v\— a)tte __ )2 wpr=3
vz-t2]ie "ﬁ" ) J:,; »=-3 2F
= = vz-34 T
( ‘/ﬁ <=2/-4 _ -
: | u’ill‘-:zlo - M rart (#2_];}5—
- = —
- 3
ot CBCR) R @ (32 1) (342F, 1)
Equation of = ==
Avrmmoms %422, %24 > Xz==l , 2= -5 j
porn £, F Y 2 E-l, wt-C N
Range:
- >L
9>, y<-h J2%,9¢°
| 1
| |
T T—
e
i) p=— ! = < Bly= K )
Falred - (x41)¥43 Al o )
INI'( Asy Inves? i n
(ul)"—ca-:v_,); 3 No x intecces Bl iﬁi——/fo'\w—/
Invariant
O ey MO
Aj::‘::r:s NOo. NO R( /\oo‘(-kﬁ)
Domain: < ER s
Range:
O<yss 0<ysk
3. Giventhat f{x)=3{x—4) —10 , sohve the equation: f(x)= /()
O Aley ityrgect on y=x! 6 = 54 JasuGXag)
bbbl
<
- -9 o
O w = 3G-0% v= 25213
Lz 3xr UM< 43S — ¢
- 3,0 (
0= 3¢ - 262438 x=2 /5
4. Solue by Completing th —
& by Completing the Square _—’—/{_/;_’__/
3 55 -30x+8m0 b —laraz_s-o
S(x*-65)18=0 3
§ (w0 bxa8-9) 4920 -4 (x>1) 520
s (x0T 20 L (o 430) £12€=0
) = 2 >
5 L (x0T
x-3 = :J b (-0 2|
= 34 185 %= 6ty
= L
o b e draial g e feisen
(% Su + B) -5 (0) 4520 o
¢l 4 (e B) B sz
. LY
D= )
. wed = e
2% %
e < = | //10

Chapter 1 Page 1

Yy
or

Y&



fe redl rats?

For what values of k does each equation have two dil
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6. For what values of m does esch equation have twe equal real reots?
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8. A ballis thrown into the air from the balcony of 2 condo and falls to the ground. The height h meters
of the ball relative o the ground t secards after being thrown is given by = -3 + 181+ 20, When
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4. & rectangular lot s bordored on o side by a stream and on the ather thes sides by 200 metars of

fencing. What are the dimersions of the lct if ts area is 4350 m?. wz % L?ﬁ
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10. The second number |5 4 more than 3 times the first ATmber and thesr graduct are nya?o. AT Z
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11. Ametal wire, 48 cm long. b cut in twa and each peece bent to farm a square. If the sum of thelr areas

is 58 cm?, haw lang is each plece of wire?

O e Tue fIRR FUmE KT K A 4o-X Ia WRWGTH
oo P & Bedl T MALE A BN .
¢ ! Omew
- - The Tus PURB Rtk
A‘j N UWem | Llam
sLl% 1 2R Heod = W= _(L.\- a.-(;)‘
g tenionze A
4\‘_-»@:5." Kodoxarieze T W, =1,
- CuXeN 2o g
N AP el g

Ae (- Foman) -T2l
12, A family plans 1o fence in & rectangular patio area behind their house, They have 200 feet of fernce to
use, On side of the rectangle is the back of the heuse, What showkd be the dimensians of the
rectangular region if they want ta make the patio area enclased as large as possible

U Ozl A= s 5 \WN=S0m
L= 2wase = 22 (W) L= (oo
— @p- e el (SRR LN WA TN W
13. Solve the equatian: 31_' Tl T () e
O Tn sy o A2 OMK B STTANRDN Rssh
Coge ) —L ey \
= - (3x) ke Feprel RO
T (’”‘ASL = < T
L= () “‘f}, ; 4o e % e
R v —
“l= (s Nosdla \ : .
] _ =3¢y 1= 3 .
14, Salve: (v 42|+ |-3x+6]=3 \?:L - ma o /"Bkr)»w\
5 = -
T, e e

[OY=="¢ M—a’E.%—Vﬂ'\ QuEsTan
® “"a [ N R

l’X 4»1\ ~ k””’(—“:\"B.

~—>
[3rt| = (x| +3
Y e =

Sine e Tun Greapas
Tt Wieaba], Mo 1TeeraSTmd — Ivo s.\-._

Chapter 1 Page 2



